Section 3 Session 2
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15+ = 20
13 + =20
1+ = 20
1L+ =20
8+ = 20
6 + = 20
13, 15, 17, 19,
18, 20, 22, 24

o

36, 38, 40, 42,

96, 94, 92, 90,

12 add equals 20.
7 add equals 20.
19 add equals 20.

add 12 equals 20.
add 14 equals 20.
- 36, 416, 56, 66,
- 91, 89, 87, 85,
81, 86, 91, 96,

© 36, 39, 412, 45

3,69 12

ANSWER

 ANSWER

30

An apple and a

e

cost 20p.

What is the change from 20p if you buy

3

an apple?
a banana?
a pineapple?

an orange?

Where do you land if you start at

| 6

7 and count on 5 jumps
of 2?

18 and count on 3 jumps

~ of 57

37 and count on 5 jumps
of 10?

- 42 and count back 3 jumps

of 2?

58 and count back L jumps
of 10?




